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E is None of These. 

 

1. Simplify:  53 544824 xxxx  ; x > 0 

 

a)   5x
2
 x3   b)   4 x3  + 5x

2
 x6  c)  4x

2
 x9   d)   xxx 634 2  

 

2. Simplify:   86 8185  . 

 

a)  
24 3240                            b)  30   c)   6 56   d)   3 30  

 

3. Simplify:  
12

32




 

a)  5 - 4 2    b)   1 –  2
2
3  c)   2 + 3 2   d)    5 + 5 2  

 

4. Which of the following is a factor of  (x
3
 – 16)? 

 

a)   x + 2
3
2      b)   x

2
 + 2x

3
2  + 4

3 4   

c)   x
2
 - 2x

3
2  + 4

3 4    d)  x
2
 + 2x

3
2  + 2

3 4  

 

5. For what value(s) of (a, b) will make this statement true: 1




ab

ba
 

 

a)  all values of (a, b)    b)  no value of (a, b) 

c)  all values of (a, b), if a > b   d)  all values of (a, b), if a  b 
 

6. Which of the following term is in the simplified form of: 264 99  yxx ? 

 

a)  22 33 yx    b)   3x
2
y   c)  

21 x   d)   
y

yxx 2223 
 

7. Simplify:  
3

5 5
4

4
4

27

2

16
53

xx
x  ; x > 0 

 

a)  
8

269
4

xx 
  b)  x

6

13
  c)    x

6

31
  d) 

12

8627
4

x
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8.  Which of the following is equivalent to: 2

1
22 32


  )( ? 

a.   -1    b)   1   c)  
3

5
5    d)

6

5
5  

 

 

9.   Solve:  
8

19
3

2

1



x

x
 

 

        a)   
4

9
   b)   .44  c)   

5

9
   d)    

2

3
 

10.   Simplify:  
33 x

y

y

x
 ;  x > 0, y > 0 

             a)  
x

y
                  b)  

x

y

2

2
  c)  

y

x

2

2
    d)   

x

y
  

               

11.   Find the smallest zero of  5102
3

..x.y  . 

 

   a)  -1.43   b)   -1.35  c)    -1.25  d)   -1.13 

 

12.   If g(x) = x  and  f(x) = 1x , find g(g(f(x – 1))). 

 

             a)   8 x    b)   6 x   c)   
4
x   d)   x   

 

  13.   Solve:  21  xx . 

 

            a)    
8
1    b)   1

4
  c)    1

2
   d)   

9
16

  

 

14.   f(x) = x .  Find f(f(f(20736))). 

 

    a)   6    b)  
4
6   c)   2 3   d)   6 6   

15.   Simplify:  


1 1

3 1

1

nn
 

 

   a)   2 3 11  b)    2 2 3   c)    2 3   d)  3  

 

16.  Simplify:  244 6 916 xxxxx  ;  x > 0 

 

  a)    2x( x  + x) b)  )( 22 2 xx  c)  x
2 )( 32 x   d)   x(2x x  + 3 x  + x)  
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17.  Simplify:  
132

1

132

1





 

  a)    -5 2  + 4 3  b)   - 2  - 3  c)   
2 6

2


  d)   

2

2  

 

18.  One of the solutions to x
2
 - 3 x – 18 = 0 is: 

 

  a)  - 3   b)   3   c)    2 3   d)   3 3  

 

19.  Find the sum of the solutions to:  585  yy  

 

  a)    -3   b)   -1   c)   3   d)  4  

 

20.   Simplify:  333 42 98 dcdc   

 

a)  6c
2
d

2
 
1 2 32dc  b)    

6 5226 cddc  c)   6
6 32dccd   d) 

3 2226 dcdc  

 

21.  Which of the following equations has the solution 2 - 3 6 ? 

 

 a)  x
2
  + 4x – 50 = 0  b)  x

2
 – 4x – 50 = 0  

 c)  x
2
 + 3 6 x + 2 = 0 d)  x

2
 + 3 6 x - 2 = 0  

 

22.   Simplify:    12233232  . 

 

a)    1 5 2 5 3 3 6      b)   7 5 2 5 3 3 6    

c)  633257       d)    633271   

  

23.   Find the y-coordinate of the intersection of the graphs:  y = x  1  and y =  x  3  + 1. 

 

 a)   5.25  b)  2.5   c)  1.75  d)  1 

 

24.   Solve for y:  22727  yy  

 

a)  6   b)     5   c)   3   d)  2 

 

25.    Which of the following ordered pairs satisfy the equation: 222  yxyx ?  

 

             a)     (3, 1)  b)   (-2 , 7)  c)  (4, 5)  d)  (6, 5) 
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26.    A baseball thrown horizontally from a height of h and an initial velocity vo will travel  

          m meters according to the relationship:  
94.

h
vs o   (ignoring wind resistance). 

          What is the initial velocity if a baseball is thrown horizontally from a height of 3.6m and 

          traveled 18.2 m? (nearest tenth) 

 

a) 15.6  b)     18.4  c)    23.1  d)   27.8 

 

27.  The speed of sound in air varies directly as the square root of the Kelvin temperature. 

         If the speed of sound was 320m/s when the temperature was 256
o
K, what was the 

         temperature when the speed of sound was 100m/s? 

 

 a)      25   b)     80  c)    100  d)   120 

       

28.    Find the sum a + b if    7131077732  ba . 

 

a)   -6       b)    -3  c)   2   d)    7 

 

29.     Which of the following values of c will give the following equations radical solutions:  

            x
2
 – 3x + c = 0?   

 

              a)   -
7

4
      b)  

5

4
   c)  

7

4
   d)   

4

9
   

 

30.   The expression ... 10101010  ,where … indicate an infinite repeating 

           pattern, can be expressed in the form 
c

ba 
, find b. 

            

            a)   2    b)  19   c)  37   d)  41 

 

 

Tie-Breakers: 

 

1. Simplify:  3612312313413  .        

 

2.   For what value of c will x
2
 -3 2 x + c = 0 have 2 as a solution? 

                 

3.   What is the function shown in the graph?  Point shown is (-3, -2)                                                                                                                                                                                                                                   
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y


